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Read the following passages and answer the followed questions.

One of the greatest things about the Internet is that nobody really owns it. It is a global collection of networks, both

76+

77-

78-

79-

big and small. These networks connect together in many different ways to form the single entity that we
know as the Intemet. In fact, the very name comes from this idea of interconnected networks. Since its
beginning in 1969, the Internet has grown from four host computer systems to tens of millions. However, just
because nobody owns the Internet, it doesn't mean it is not monitored and maintained in different ways. The
Internet Society, a non-profit group established in 1992, oversees the formation of the policies and protocols
that define how we use and interact with the Internet. Every computer that is connected to the Internet is part
of a network, even the one in your home. For example, you may use a modem and dial a local number to
connect to an Internet Service Provider (ISP). At work, you may be part of a local area network (LAN), but
you most likely still connect to the Internet using an ISP that your company has contracted with. When you
connect to your ISP, you become part of their network. The ISP may then connect to a larger network and
become part of their network. The Internet is simply a network of networks.

Which of the following definitions is not suitable for the Internet?
1) A global collection of networks 2) An Internet service provider
3) Interconnected networks 4) A network of networks

Which of the following statements is true? ‘
1) The Internet Society defined how we use the Internet from the first day the Internet was created
2) Most of the Local Area Networks use an Internet Service Provider to connect to the Internet

3) At the beginning Internet consisted of one host computer with four users
4) The Internet belongs to the Internet Society

The second “it” in line 5 refers to:

1) The Internet Society  2) The Host Computer  3) The Internet 4) Nobody

Which is not a network?

1) An ISP 2) ALAN 3) The Internet 4) Your computer

Spyware is a category of computer programs that attach themselves to your operating system in different ways.

80-

81- While Spyware is a/an ....... computer virus is a/an

82- The major purpose of a Spyware is to .......

They can suck the life out of your computer's processing power. They are designed to track your Internet
habits, nag you with unwanted sales offers or generate traffic for their host Web site. According to recent
estimates, more than two-thirds of all personal computers are infected with some kind of Spyware. Some
people mistake Spyware for a computer virus. A computer virus is a piece of code designed to replicate itself
as many times as possible, spreading from one host computer to any other computers connected to it. It
usually has a payload that may damage your personal files or even your operating system. Spyware, on the
other hand, is generally not designed to damage your computer. Spyware is broadly defined as any program
that gets into your computer without permission and hides in the background while it makes unwanted
changes to your user experience. The damage it does is more a by-product of its main mission, which is to
serve you targeted advertisements or make your browser display certain sites or search results.

A Spyware will usually Not ...
1) Show you unwanted advertisements 2) Damage your operating system
3) Track your internet usage 4) Hide in the background

.......

1) Operating system — Piece of code 2) Program — Operating system
3) Program — Piece of code 4) Piece of code — Program

1) Show you unwanted advertisements 2) Attach itself to your operating system
3) Generate traffic for websites 4) Damage your personal files
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*  Fill the blanks with appropriate words.

The first version of Microsoft Windows....( 83 )..... the market in 1983. But unlike today's versions of Windows,
Windows 1.0 was not an operating system (OS). It was a graphical user interface that worked with an
existing OS called MS-DOS. Version 1.0 didn't look much like .....('84)...... versions, either -- not even’
Windows 3.0, which many people think of as the first real version of Windows. Windows 1.0 graphics were
simpler and used ......( 85)...... colors than today's user interfaces, and its windows could not overlap.

83- 1) Beat 2) Create 3) Meet 4) Hit
84- 1) Newer 2) Fewer 3) Truer 4) Simpler
85- 1) Cooler 2) Fewer | 3) More 4) Lighter
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Tl plaS 3) 4 9) jpiud o295

. " " "y UL . 2 (Y 1 (\
printf("%d",strlen("'\n'")); 4 (¢ 3 (v
?m:n? fogd o0 True b, blas plas 5 9 41 9, ,.5;..034 »
if(la /71 : ’
".f((ag /12 , i
1f(!a==o)} //4 l’2,3,4(f

"’J.qu - 1386/4/22 b plas 9y 4 9y Gaalip 50
mainotf('{u;%sgia} 22 2) ; :':
n=prin n/",al,a2); a2=(n-1 ]
pr1ntf(:13%n%n86/",&al.&aZ); L= ;;% 142¢
printf("XdXn¥n¥d/" | '\r',&al8a2,'a'-"\n'-1); 773 :
n=printf("¥s%n%n/","1386",al,a2); al=a2=(n-1)/2; //4 144 cf

printf("%d/%d%d",al+a2,al,a2):}

(R e o . 3 .
WSl 1) pox fol> g Lo Jol> WSum &b j1Return plus U wslalyd janwo .phf 9) 4 9y s4abliy 3o

mainQ)  { int a,b,c; 1,30
e & dbise,

. . n",sum(a,b)): //1 2 30-
printf("%d\t%d\n", " 2
sum(int a,int é?in€u2§a'b-c)),} //2 244
{c=a+b;return a*b;c;} //3

{c=a+b;return a*b,c:} //4

§95050 plonil 930 plas c readel @b Jlss1)5 58 55 95 41 3 sasliz 5o

struct telef {char num[10];struct telef *tnext;};
struct stl{char name[15]; struct telef *tel;
struct stl *next; };

struct telef *tptr,*titem,*tstart;

struct stl *ptr,*item,*start,mt;

void readc1(g{ char nam[10],tt[10];
for(;;){gets(nam);if(nam[0]=="\0"') break;
strcpy(item->name ,nam) ;

do{gets(tt); if(tt[0]=="\0") break;
strcpy(titem->num ,tt) ;

titem->tnext=tptr; tptr=titem;}while(tt[0]!="\0");
item->tel=titem; item->next=ptr;

ptr=item; tptr='\0'; } start=item; }

SELgpos °J=.%é Oty 90 3 eaS oyly J Ll go et a5l e Sl o)leds golaaiy 0t as,ly I bl el a5 sl solass (0
S e 0yaSd Ay g0 o, e-\..:a 3yl J SLL sl a5 ol o sl ojlad (golass g oas 3,lg spaceuslgL_ pl a5 ol solaas(Y
WS g0 03D Lo y3 ) 0lat o, ).:71) pU sl )0 oud o)lg J 0 JLL goyleds a5 o)lads (golaai 4 pli G (Y

WS (g0 05e3d K0d gardy o )6 5les Gl S 5o 1, plecdlyo (59959 5l 0jlats Sy 306 (F

foaul plas’ o> 9,5 0o 5yl aAJDBJcCIdDHF I 2z (Sl *!:.*? Nty a9y @) gasliy yo 51

_ . 114 ¢

#include<iostream.h> 123 (v
void main() :
{int_ac=0,bc=0, cc=0,dc=0, fc=0, x; gk
while((x=cin.get())!=EOF) ERROR (¢
{switch(x){

case'A':case'a’':ac++;break;
case'B','b':bc++;
case'C':case'c':cc++;break;
case'D':case'd’ :dc++;break;
case 'F',"F':fciss} }
cout<<ac++<<++hbc<<cc+--dc; }
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#include<iostream. h> 012 1
void f1(int),f2(int) ,F3(int),faCint);

int mainQ s’
void(*f[4]) (int) g{fl.fZ,fB,f4g; 123 (v
int i=-1; while(i+4+>-2 &% 1<3 1234 (f
{ (*f(i))G);} return 0;}

void f1( int a){cout<<++a
void f2( int a){cout<<++a
void f3( int ag cout<<++a
void f4( int a){cout<<++a

Sl a3l 42538 alus enter ub awasg b —10A

void enter()
{ struct student { char name[11];
char family[21]); int stno;} stu;
ofstream fp(''st.dat”, ios::out | ios::in | ios::binary);
while(l) { cin.getline(stu.name, 10):
if(strien(stu.name)==0) break; //1
cin.getline(stu.family, 20);
cin >> stu.stno;

cin.get(); 172
fp.seekp(sizeof(struct student) * stu.stno, ios::beg); //3
fp.write((char *) &stu, sizeof(struct student)); } //4
fp.close();}

A5 Lo aolol while gail> 5e35 0 5,ly (slazs, a5 loj b ogd oo el 2 bz ol e 4y 1 L3 (0
w5 Loy aslsl While sdil> 595 o 3)ly slazd; a5 Sloj b 39 oo el 1 Jas- (¥

S oo 700 S o€ 9 S0 B il S 419,55, 4 53 L (V

WS oo 7y JlB sl o, 3,85,4 b (Y

#include<iostream.h> fowsl plas g, a2 9) saalip (o295 19
void copyl(char * ,const char *); fardad
void copy2(char * ,const char *); faradad (v
int main()
{char 51[10%,*52="fara“; far (v
char s3[10],s4[]="dad"; dad (f
copyl(sl,s2);cout<<s2Z;
copy2(s3,s4) ;cout<<s3;
return 0;}
void copyl(char *sl,const char *s2)
{ for (Gint i=0;(s1[1]=s2[i])!="\0";i++);}
void copy2(char *sl,const char *s2)
{ for (G (*s1=*s2)!="\0";*s1l++,*s2++);}
#include<iostream.h> Sl plaS 39,5 9y a9 Gaslip ;0 -11e
int a=21; 2121 (\
void main()
{int a=1;a=a+::a; 2221 (v
cout<<a<<::a;} 2222 (v
ERROR (¥
fowl plas 9y a2 9) @b (>35> -
val("15-12.3") 0
2.7 (v
15 ¢r

15-12.3 (¥
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19328 g0 )18 las Labell ;o 1052 o,ly+ 4 = 4+ 0d = 01— 12,0+ EndJ — 6.0 , TEXTI j5 ;51 -1y
(ol I )0 s S5 )0 1) jaiand o Gl ol dzb 8 1S )0 00 500 aasli y (sladas as4i)

Option Explicit

Dim sum As Single, s As String * 1, sta As Strin
Private Sub Form_Load() sta = "start" End Sub
Private Sub Textl_KeyPress(KeyAscii As Integer)
1f KeyAscii = 13 Then If uCase(Textl) <> "END" Then

sum = sum + val(Textl) If sta = “start" And val(Textl) < 0 Then
Labell = Textl sta = "" Else

Select Case SQn(}La.‘l (Textl))

g * 5,stp As string * 4

Case -1 s Case 0 5 = """ Textl = "" Case 1 s = "4+"
If mid(rextl, 1, 1) = "+" Then s = "" End Select :
Labell = Labell & s & Textl End If Else
Labell = Labell & " = " & sum stp = "“true" End If

Textl = "" End If If stp = "true" Then Textl.visible = False End Sub

+4-4+0-0-12

+4 -4 —-12=-12 (v

4-4 -12 -6=-18 (v

+4 —4 —12 —6 (¥
S'c_.ulc..u,alia.;,_}f,-l.n‘,,q,, Saobiy 3590 0 -NY

Private sub command2_click()
If MsgBox("Are You Sure Delete", vbyesNo, Listl.Text) = vbyes Then
List2.AddItem Listl.Text Listl.RemoveItem Listl.ListIndex
call Listl_cClick End Sub
Private Sub Ccommand3_Click()
If Listl.ListIndex <> -1 Then Listl.ListIndex = -1 End Sub
Private Sub Form_Load() Dim i As Integer
For i = 1 To 10 Listl.AddItem val(i) Next i
Listl.ListIndex = 0 Listl.SetFocus End Sub
Private Sub Listl_Click() Text2.Text = ""
If Listl.ListIndex <> -1 Then
command2.Enabled = True: Command3.Enabled = True: Text2.Text = Listl.Text
Else: command2.Enabled = False: Command3.Enabled = False End If End Sub
Private Sub Listl_Ke¥Down(KeyCode As Integer, Shift As Integer)
If KeyCode = vbkeyDelete Then call Command2_cClick End Sub

g oo 3l jao ol a List]l jaie o d4 form _Load () 5 (0
8,5 Bd> |y oas sl Listl ;) PR S el & g yaze Ql,:Lsn.iDel A5 L (Y

S90Sl Sl eas Llsasl Listl 5l a5 (¢ ja:c Command3 g, Click L (v

33e5 33> List] ;1 Command2 sy, Click L Del oI5 § o)lg5 a1, eat Lol 53 2 jab 4 45 (g jaie (F

ol plus Textl gaixo ano

pPrivate sub find_Click(Q)
Textl.selstart = 0
Textl.SelLength = 0

x = Instr(x + 1, Textl, Text2, 1)

If x Then Textl.selstart = x - 1 Hello ME}!R(‘
Textl.SelLength = Len(Text2) Hello TiR (¥
x = X + Len(Text2) eEnd If End Sub ello TiR (v

Hello MEH (f

Yol plas f)ib;'...._an).éa_h:rjt!jLs__._J; a ol g) cd § puaS (6,108 )l | ol gy g adl JsS slyle o Sbo-na

(Senly 43 vz 30
1-Open , 2- Close , 3-Load , 4- Unload , 5- Activate , 6-Deactivate, 7-GotFocus , 8- Lost Focus ,) 9—ResiJze
1395462 (¥ 139574862 (v 135974982 (v 13952468 (
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type link=Aper; (2,12 51,3 18Y Jlgw ;0 P4 oy 1)T0 91 dlas plas 29,5 0uiS 1211, P4 s s ASJAG6.
per=record name:strine[lsj;next:11nk end;
var item,ptr,last:1in ;itemname:string[15];

rocedure pl;

egin

new(item); readTn(itemA.name) ; itemA.next:=nil;
gtrg=1tem;wh11e not(itemA.name[1] in [' ']) do

begin new(item); readin(itemA.name);

ltemA.next:=ptr; ptr:=item; end:

last:=itemA.next;end;

grogedure p2;

egin new(item); readln(itemA.name);

readin(itemname); if itemname[1]="' i then begin
1temA.next:=last;last:=item end else begin ptr:=last;
while(ptrA.name<> itemname) and (ptrA.next<snil) do
pPtri=ptrA.next;itemA.next:=ptrA.next;
ptrA.next:=item end;end;
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in ptri=last;while ptrenil do
begin gten:-ptr; write(itemA.name); adadal (f ada3alal (v

ptri=itemA.next end end;
rocedure qi;
in readIn(itemname);
1f lastA.name=1temname then begin
item:=last;last:=itemA.next; dispose(item) end;end;
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. Togd o plal Ja o il
if x<tA.info then if tA.lptronil ' s - ¢
then t:=tA.lptr else tl_\.qptr:=newnoc.le; Srbpir L3P S pp ()
else if otA.info then if tA.rptronil S G 30 Ky 3y (1
then t:=tA.rptr else tA.rptri=newnode; Heap co5 &, 5,5 (F
Heap o3 & o s (F
fowl s Gljla ,IJS,.:,.&G. pLg.i‘ J.nlf (lh)),;uo |||JS nay ‘5«0,9 ,é -4
type bintreetype=Abinnodetype; -4
binnodetype=record info:integer;1ptr,rptr:bintreetype end; e 3’34’ 22’ : 8
var nd,newnode:bintreetype;n:integer; -4 410
function createnode(x:integer):bintreetype; 4,3-2,1(r
begin new(newnode); I-1f
with newnodeA do begin
Iptri=nil;info:=x;rptri=nil end;em{:
begin  readin(n); 1}
nd:=createnode(n) ; {2}
write(ndA. Iptr,ndA.rptr); {3}
write(ndA.info); end. {4}
S e (AT O g0 40 b wier AT]l b g 030§ 155 9 780 polio v 4y g M s> & adyl 313 0 1 5
. . . fogd oo > gousaz 3
function gcd(m,n:integer):integer: : 5
Pegén g g 45 0 gy ol — U3
if m>m then ged:=gcd(n,m) 0 oas baw (Y
else if n=0 then gcd:=m b sae b oo
else gcd:=gcd(n,m mod n); b e
end; begin ' Dy gai D> G206 an— b Culgg o (F

writeln(gcd(780,155)) ;end.



